EARAROBREBRT —5 XN—ZXBISH—F 202478108 (K) 8OEH4H

I ER 7 /\OVC3= YSR3mLE ‘ %Z] & ‘ (BEEm - | 9 14000 B
[AE%&]) 17&:560,00H ~ 2&:19%,000H  3%&:112,000H  437%:84,000H 5 3&:56,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
4 | RO 1:33.5 3-4-2-2 |42 — 2 495 | ETER (FEk)
108/12|FYVI7DIF # 54.0 ) 5) () 2<Ba—RL— 3y
RiUFAVF4—X B:FUIETY— B4

g 4 6 B 1:33.6 2=2-1H] 41.5 = 3 499 | BEES (BB
EH 3 UFILR A53.0 (172) -6) EF‘ZM%,EU

R:O—RAprO7 #3199 BT 7—L4A
o\ ~ 4 8 | TEE 1:33.9 4-3-4-3 | M.6| — n 474 | EEF— (FE)
356 | EVITIAY 54.0 a1/ | B F<BI-RL—vay
R:Nk40 B:F4T+> FHL FA
— =3 s 5 | EEm 1:34.3 7-7-7-4 | 41.7| — 1 499 | BETHE (FH)
4|55 |F—UTFALT 1 54.0 @172 -6) @) 2AATL—vT
R:FARAIU—rFvy b B:Fa—Tx—)l EillEe]
—s LA F ) 1:34. 11-11-10-9 | 40. - WOE= (k)

5 7| =Y/ TH—U—T 5 ) (31)5 0-9 | 40.9 5 (3335) woes
R:O—=RAFVIFL B:Zy/70-N— il SER
=5P3— = 8 5 | EREADE 1:34.8 9-9-6-6 |42.0 — 6 450 | EHE—E (EH)

6 4 SJ71—-905 54.0 (1172 1 |AHEEF
RFALNS Ry IR B:NSIUIRN—/N— HEARTw b

e 4 7 | FEBKX 1:34.8 6-6-5-4 | 42.3| — 7 488 | AIVNIEtE (EH)

7181 BAY7rFyIa 56.0 ©@E) © | # TKK

R:FVyvH/Ft+ & OEAILRA—Y REHIS
< P aEZ 134, -5-8- . - KIRER (FEkE)

8111 |FARYNADTA 6 5.0 1(,%‘;? 5588 1419 12 (‘TS ﬁJIlaL\A

RiFVyvH/ 2+ B:HHFUYIAE—R /=3I r—I

73~ ~ 1ZmfEX 1:35. 1-1-3-7 | 43. - 4 449 | FIELE (EE)
N . BRCPZEP w o | B8 i 7|l e
RINBVTFSY BNTYVF—T3 BYNIOVTFYT7—1I

1007]9|337YERARIIL # 5 | ZURS (12315/3 10-10-11-10{ 41.9 | — | 10 (4+928) ﬁf-éégg (@)
Rib—EYS— B:VaTIVRyIR2 ESHI7—L
]2 L©—YF 4TS 5 | EER= (;isg) 8-8-9-11 |45.5| — | 9 (4_530) ;gg;(m)
RZRIAVL—Y B:ib—tYRIYD s &
+x| 7010 9?31 ) " E’ﬁ%ﬁﬁ (1) _ R (4_513) %Igﬁg?égﬂﬁm—mu—yay
RZvF—TFAN B:ITELYRE—T FHRE%S
® 1—F—EBIRfL
1J—7— |8.3.12,6,1,11,5.2.4,9.7
23—7— |8,3,6,12,1,11,5,2,4,9,7
I=5r= 3,12,8,6,11,4,5,1,2,7.9
4J—F— |3,12,6,(5,11),4,8,1,7,9,2
o ILRE
& B 12 380 | | DA R 3-12 460F3 | | # = 3-8 1,10M | | =8 3-6-12 20,300/
& B 12 150M9 6-12 2,260 | | 5 &= 3-12 1,530M9 | | =8 12-3-6 74,950H
3 200M 3-6 5,280 | | /5 & 12-3 2,610M
6 800F

ABIC OV TRUTEREERRODDZE. THRIIZEL.



